Dialogue:

Bocem@: Thilh ypoK, | oo

“Are your brothers home?”

2" conjugation: Present Tense

- When combining stem + ending
results in truncation

- Verb classes: -u+, -e+, XXa-XXa+

- 2 conjugation and stress

Expressions with languages

Jnanor
TBou 6paTbsa goma? Are your brothers (at) home?
Kars: 1 | TBou 6patesa n6ma? Uto oHU aénaroTr? Are your brothers (at) home? What are they
doing?
JIéns: 2 | AviMa cMOTPHT TeseBA30p, a Hukiira u erd Dima is watching TV, and Nikita and his
3 | moapyra Baps cTosiT Ha fajJKkOHe U KYPAT. girlfriend Varya are standing on the balcony and
smoking.
Kars: 4 | A ThI uTO néNMaeb? And what are you doing?
JIénsn: 5 | A? Huuerd oco6ennoro. A yuy kuraickue Me? Nothing special. I'm studying Chinese
6 |caoBa. B mikose MBI YIUM KUTANCKHNA A3BIK. vocabulary (= words). At school we're
studying Chinese.
Kars: 7 | Tl yunmb kutaiickuii? Hugero ce6é! You 're studying Chinese? Wow!
JIénsn: 8 | A BBl TOBOPUTE MO-KUTANCKU? Do you speak Chinese?
Kara: 9 |Her, s 4yTb-4yTh rOBOpIO MO-PPAHIY3CKHU U No, I speak a little bit of French and I know
10 | HETUIOXO 3HAI0 MCHAHCKMIA. Spanish fairly well.
CioBapnb
2 CMOTpéJr watch
2 | TeneBU30p TV
2 | moxpyra girlfriend
3 | cTosi+ stand
3 | GankOH balcony
3 Kypl)/(I+ smoke
3 leﬁ+ study; learn (We saw: On yuutcs B Ilpuncrone He studies at Princeton)
3 | KUTAWCKUH Chinese (adj)
6 |cnoBo (Plural ciosa) word
6 |mkoma school
6 | S3BIK language; tongue (We saw the Phrase: kypc pycckoro si3b1ka Russian (language)
course.)
8 | roBopu+ speak; talk (We saw: O uém 161 roBopuis? What are you talking about?)
9 |4yTh-uyTh a little bit; just a bit
9 | ppaniy3ckmii French (adj.) (See grammar explanation concerning the form mo-¢paniry3cku.)
10 | 3HAH+ know
10 | MCTTAHCKMIA Spanish (adj)
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18-1 ypok FpammaTuka

18.A Present Tense 2"*-Conjugation (Guitar) Verbs

18.A.1 When combining stem + ending results in truncation of final letter of stem

Before we look at the Present Tense endings for the 2"*-conjugation (Guitar) verbs (the last two lessons covered
just 1¥-conjugation Up-to-Snuff verbs), let’s look a little more at how endings are added to stems. Thus far (with
all nouns, adjectives, and 1*-conjugation verbs) we have seen “basic addition”: everywhere we have simply added
the endings — all of which have begun with a vowel — to the stems — all of which, so far, have ended with a
consonant. In other words, the combination C + V is a ‘harmonious’ one:

This could be the beginning of
a beautiful relationship.

C+V = harmony: Haw + -{A} > Hawa
nnox” + -{O}e - nnoxode
xu+" + -{U} 2 xuBy
aénan+ + -"{O}r > nénaet
na+" -*{O}m > noém

But what happens if the stem ends in a vowel, i.e. (V + V)? Here you get TRUNCATION, where the stem vowel
is replaced, kicked out, 86ed, tossed by the vowel in the ending.

...and stay out!

¥ +V > chaos: nexg++ -{U} > nexy
cMoTpg+ + -{l}T > cmoTpUT
yuif+ + -{A}T > yuar

Why are we bringing this up here? Because all the stems of the 2™ conjugation (Guitar) verbs end in a vowel. So,
when these stems combine with endings beginning with a vowel, ¥ + V truncation will occur throughout the
Present Tense.

18.A.2 Z“d-Conjugation (Guitar) Endings

Recall that we dubbed the 1*-conjugation endings Up-to-Snuff because the vowels found in the endings follow
the pattern {U} (uny) {O} (unéus, unér, uném, unére) {U} (unyr). To help you remember the vowel sequence
for the 2"-conjugation, we suggest you think of Guitar, because, as you might expect, the pattern is {U}-{I}-{A}.

Present Tense endings, 2" conjugation

SINGULAR PLURAL
1% (1) -{U} 1% (MBbI) -{m
2" (1B1) -{l} b 2" (BBI) -{l}Te
3" (on/ond/ond) | -{I}t 3" (onnt) -{A}T

Note that the endings are quite similar to 1* conjugation — only the vowels are different (but not in the s form).
I
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Grammar

Lesson 18

18.A.3

2"! conjugation (Guitar) verb classes: -u+, -e+, -2Ka-JKa+

There are only three types of 2™-conjugation (Guitar) verbs (based on the final letter(s) of the stem):

1) -m+ e.g., Kyph+(i.c., the final letter of the stem is m)

2) -e+, e.g., eMoTpé-+ (i.e., the final letter of the stem is e)

3) Ka+ (where ‘2K’ stands for any of the permanently hard or soft consonants ‘x, m, 4, 1, 171’1), e.g., JIeKa+,
capima+ listen, Kpu4a+ shout, muma+ squeal, crosi+ (remember: {A} is spelled s1). We’ll refer to this group
as ‘¥Ka-XKa+ verbs’. Every other verb class besides -u+, -e+, #Ka-Ka+ is 1¥-conjugation.

We have already seen the following 2™-conjugation (Guitar) verbs:

-u+ verbs

-e+ verbs

-Ka-Ka+ verbs

Kypi+ smoke
roBopu+ talk; speak
yai+ study; learn

cMoTpé+ look
BULE+ see
cuné+ sit; be in a sitting position

nexa+ lie; be in a lying position
CTosi+ stand, be in a standing position

e

“? | Question:

I still don’t see how you can determine the stem. The forms you’ve listed
i above don’t appear in any dictionary, what with the crazy ‘+’ and the like.

|
|
I
Just trust us. Yes, the form CMOTpé+ is not found in a dictionary, but it is OUR |
|
|
|
|

| Answer:
E form, from which you’ll be able to predict every other form of the that verb. A ;
: little later on we’ll talk about dictionary forms and why they are inferior. |
Present Tense, 2" Conjugation (Guitar) Verbs
(Note truncation due to the Y +V combination)
PERSON / NUMBER STEM ENDING WORD
CMOTpE + cmoTplO>
1sg s nez(1<;(+ - { U } TEKY
Yah+ yay
CMOTpE + CMOTpULIB
ng ThbI TIEXA + - { | } b JIKHUIIIb
v+ VUHIITH
ol/ons/ CMOTpE + CM(')T'pI/IT
3sg OHO ne§<¢+ - { | }T JIEXKUT
Yap+ YYUT
CMOTpE + CMOTpUM
1pl MBI TEXKA + - { | } M TEKUAM
Y+ VIUM
CMOTpE + CcMOTpHTE
2pl BbI TIEKHA + - { | } TC TIEKATE
yaj+ VUIHUTE
) CMOTpE + CMOTPAT
3pl OHHU TEKA + - {A}T JIEKAT
yug+ yJar

! There is onlz 1 verb in -a+, but it’s obscene.
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@& | IMPORTANT NOTE ABOUT 2" CONJUGATION: Remember that the onsi-form ending
for the 2™-conjugation (Guitar) is - {A}T: cMOTpsT, IexK4T, roToBsiT. Do NOT attempt to use
the 1* conjugation -{U}T (as many Russian students tend to do by mistake). A Russian
standing near by is likely to short circuit.

18.A.4 Z“d-Conjugation (Guitar) Verbs and Stress

The 1%-conjugation verbs we’ve learned so far (Lessons 16 and 17) all have fixed stress in the Present Tense. 2™
-conjugation verbs can also have fixed stress. Stress can be fixed on any syllable of the verb: Biime+ = always 1*
syllable: BiKY, BAMIID, ... BIAST; roBoph+ = always last syllable: roBopio, roBopiimb, ... roBOpAT, etc.

However, some 2"-conjugation verbs have shifting stress in the Present Tense. Don’t get stressed: the shifting
pattern is always the same: from the ending in the 1* person singular (a-form) to the stem in all other forms. As
with nouns, we will indicate shifting stress with the symbol * above the end syllable: cMoTpé+= cMoTpIo,
CMOTPHIIB, ... cMOTPAT. On your verb index cards, DON’T FORGET to include stress pattern.

FIXED STRESS SHIFTING STRESS
CJIbIIIA+ roBOpH+ CMOTpé+
CJBIIT Y rOBOp | 1O CMOTp | 1O
CIIBIII UIIIb TOBOp | HIIb CMOTp HIIb
CIBII UT TOBOp | UT CMOTpP UT
CIBII UM rOBOp UM CMOTp UM
CIIBIII UTE roBOp  UTE CMOTp HTE
CJIBII aT rOBOD | SIT CMOTp AT

@ Listen and repeat:

X ’ r ’ r I3 r r r
Example: xkypi+ [ 5 kypio, met kypuws, ond Kypum, mul KYpum, 6l Kypume, onil KyYpam
cTosi+ [ 5 cmow, mei cmoius, OHA CMoum, Mol CHIOUM, 8bl CHIOUME, OHUL CHOSM

1. rosopu+ 2. JexKa+ 3. yui+ 4, xpwda+ (shout)
5. Kypn+ 6. ™Moud+ (be silent) 7. cMoTpe+ 8. Bépu+ (believe)
9. uuHw+ (repair) 10. nepxar+ (hold) 11. nomuM+ (remember) 12. pemi+ (decide)

@ Produce the form that is called for on the recording (Another long, but very important exercise):

Example: crosi+ Ha GankOHe (Mbl, OHH, etc.) [ ] mbl cmotim na 6ankdne, onii cmosim na 6ankone.., ete.

1. TOBOpH+ MO-PYCCKHU (51, OHA, MBI, THI, BBI, €rd MIAAIINHA OpaT, ux poaurenu, AuHa JIbBOBHA)
2. nexa+ Ha quBaHe (MBI, BBI, MOSI CECTpA, HAIIM AETH, s, Thl, Mpunsl poautenu, FOpuit SkoBnesny)

X 7 ’ 7 4 J J4 14
3. yui+ cioBa (s, MumuHa cectpa, Mbl, OHH, Bbl, Thl, COHIHA 0ub, Bépa [14Bn0oBHA)

> Technically, stress in verbs like rosopi+ is still on the stem, since the ‘n’ is still part of the stem. But remember, this

stem vowel gets cut when the verb endings are added. The result is that the stress winds up being on the ending after all:

ronoBiH + —{Ui > FOBOBE’@.
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Grammar Lesson 18
______________________________________________________________________________________________________________________________________________|]
X 4 7 7 . r Ja
CMOTpe+ TeNeBH30p (s, THI, MBI, BB, KATHH OpaTt, Mou céctpsl, s, boprc [lerpoBud)
He IOMHU+ (THI, 5, BAITA POJIUTEIH, BB, MBI, OHU, [ anHa MBadHOBHA, MX Muaamuii Opar)
Kpu4d+ (TBI, MBI, BHI, 51, JleB Hukonaesud, ouy, e€ crapmas cectpd, Hartdnmms Muxaitnosna)

Kypﬁ+ (8oL, MBI, 51, Onera [1aBnoBHa, oun, THI, [1€Tp KOpheBuy, erd poanTenn)

® =N ok

Moraa+ (BOpsi, MbI, OHH, BBI, Thl, MOW OpaT, ['pAIINH CBIH, )

The “Chameleon”: Keep changing the phrase using each newly given word. Sometimes the

subject will change, sometimes the verb). As you will hear on the recording, word order is

flexible in Russian. Your answer is not “wrong” if the order does not match the recording.
Example: Yro ... némait+ (Mama, oun, kypi) [Ymo oéraem Mdawa? = Ymo onti 0énaiom? = Ol kypsam.

Start with Uro ... xéaai+?

1. 2. BB 3. MBI 4. cMmoTper 5. oHH
TEJIEBUA30P

6. TH 7. Bépa 8. umrait+ kypHAT 9. MbI 10. eé Opar

11. s 12. xypa+ 13. BHI 14. I'éna 15. mbI

16. TbI 17. un+" B KUHO 18. onn 19. MbI 20. a1

21. mpii+ BUHO 22. oH 23. Mbl 24. moii+" pycckue 25. onn
nécHU

26. 1 27. Tans 28. roBopHr+ 29. s 30. onn

10-(paHITy3CKH

18.b Talking About Languages

Bbl roBopuTe no-pycckun? (8)
Back in Lesson 7 the poor café worker said: st mia6xo mouumaro mo-pyccku / don 't understand Russian well.
With the verbs roBopn+ speak, untaii+ read, monumaii+ understand you need that little mo- (don’t forget to

write the dash; lots of students do), to which you add the name of the language (the adjective minus the final -it):

With roBopu+, YnTam+, NOHUMAaN+: NO-XKK

ADJECTIVE ADD I10- & REMOVE -ii | USE WITH IOHUMAIJi+, YUTA¥+, TOBOPU+
aHTTTAACKUNA  English MO-aHTJIMHCKHU  in English TOBOpU+ MO-aHTIUICKH speak English
pycckuii Russian MO-PYCCKH  in Russian YUTAH+ MMO-PYCCKU read Russian
ObpaHy3ckuii  French no-Qppaniy3cku in French NOHUMAH+ No-ppaHy3cku understand French
HCTIAHCKUU  Spanish MO-UCITAHCKH  in Spanish TOBOpU+ ITO-UCHAHCKH speak Spanish
KuTaiickuit Chinese MO-KUTANCKU in Chinese YUTAH+ MO-KUTANCKU read Chinese
HeMEUKu German o-HeMEUKHU in German IMOHUMAM+ ITO-HEMENKH understand German
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___________________________________________________________________________________________________________________________]

For the verbs yus+ study; learn and 3maii+ know, however, you simply leave the language adjective as is
(including the final i) and optionally add the noun s3wIk language.

With yun+, 3HaN+: XKui A3kIK

’ X ’ o
ADJECTIVE ADD SI3BIK (OPTIONAL) USE WITH YUk, 3HAM+

aHTIIANACKUNA English | aHTIAACKUH (3BIK) English (language) yuri+ aHTIAACKII (13B1K) study; learn English

pPYCCKUI Russian pycckuit (I3bIK) Russian( language) 3HAW+ PYCCKUH (S3BIK) know Russian

dbpanuy3scknii French | dbpaniysckuit (138IK) French (language) | yuni+ QpaHIy3cKuii (1361K) study, learn French

WUCHIAHCKUU Spanish WCTIAHCKUH (S3BIK) Spanish (language) 3HA+ UCTTAHCKUH (A3BIK) know Spanish

& ~ . J&% o , . X Y v - .
kuTaiickuii Chinese KUTAWCKUH (A3BIK) Chinese (language) YU+ KUTAUCKUM (S3BIK) study; learn Chinese
HeMEUKul German HeMEKui (3bIK) German language 3HAM+ HEMENKUHN (SI3BIK) study, learn German

g@ Transform the sentence as in the example:

Example: Jama / xopom6 roeopi+ / French ] Hawa xopowd eosopuim no-ghpanyy3cku.
[érs / yun+ / English 0 lléms yuum anenutickuti s3viK.
1. S/ ne monmMmaii+ / Spanish 2. Banmuk /unmraii+ /Russian 3. Wuna / me roopr+ / English
4. Teor/ 3naii+ / Russian? 5. Bor /roBopu+/ French? 6. Mbur/ yun+ / Russian
dtu aéBymKy / mIdxo 8. Ero néru / yuit+ / Chinese 9. 4 /xopomd rosopu+/ German

nonumaii+ / English
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2< Exercise 1 What are the 3 types of 2" conjugation (Guitar) verbs? Give an example of each.

2< Exercise2 Fillin this 2"%_conjugation (Guitar) verb table just as you did for the 1
conjugation:

’ X , X ,
roBopu+ CMOTpEtH CTOsA+ yuu+ JISXKa+

ThI

Camia

MBI

BbI

OHU
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2< Exercise3 Answer the questions as truthfully as if you wish:

Example: Brl roBopute no-¢ppaniyscuxu? [ a, 51 xopowio 2060pi0 no-ghpanyy3cru.
or: Hem, s ne 2osopro no-ppanyyscku.
or: A nonumaro no-@panyyscku, Ho 1 He 2080pi0.

1. Bam Opat (¥ii Bamma cecTpa) TOBOPUT MO-UCTIAHCKH?

2. Kakwne s3p1ku BbI yuriin B mkone? (Keep the verb in the Past: Masculine Ending -1 / Feminine -/1a)

3. Bamm poadTeNy YUTAIOT MO-aHTITUHCKH?

4. BbI rOBOpUTE MO-PYCCKU?

2< Exercise 4 Putin a verb that makes sense:

1. Yro ThI 74 KYpHAIT.

2. Mrma Ha OankOHe U’

3. Mmu pYyCCKHUe CIIOBA.

4. Jléns MABO U pyccKue MécHU.
5. O#, roaosa , YIIIH !
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